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Series 03
Exercise 01: The utility function for a consumer is given as follows :
U= 5X1/4y1/2

Where: Px=2, Py=3 and R=54.
1. Assuming that the level of consumer utility is fixed at U, = 30, find the indifference curve equation, then
represent it graphically.
2. Find the income equation in the form y=f(x), then draw the income line in the same graph.
3. Calculate the value of the marginal rate of substitution MRSy, then determine the consumer’s equilibrium
bundel.
4. Find the equation of the consumption-income curve, then determine the new equilibrium composition at R’ = 72.
5- From the results in (3) and (4), draw the Engel curve for x, and the consumption-income curve, and show the
importance of the two goods x and y for the consumer.

Exercise 02: A consumer's utility function is given as follows:
U=Ax4y

1. Determine the demand equations for the two commodities, noting that: Py is the unit price of commodity x, Py is
the unit price of good y, and R is the consumer’s income.

2. Suppose that: €u, = 0.25, eéu,= 0.75 and A = 30:

a. Draw the price -consumption curve at: P, = 6, R= 840, and the price P, takes the values 4 and 6, then explain
the relationship between the two commodities x and y.

b- Draw the income -consumption curve at: P,= P,=4 and income R takes the values 840 and 1200, then explain
the weightiness of the commodities x and y for the consumer.

c¢. Draw the Engel curve for each commodity based on the data in (b).

Exercise 03: A consumer depends on the two goods x and y to maximize his utility, and the following table shows
the effects of substitution and income on his demand for the two goods:

Good APx X y
Nature

Superior Good Substitution Effect | Income Effect | Substitution Effect Income Effect

Inferior Good Px falls

Giffen Good

Superior Good

Inferior Good Px rises

Giffen Good

1. Complete the table by putting a sign (+) or (-) to express the direction of the effect in cases of rise and fall in the
price Px, given the other factors constant.
2. Give a graphical representation of the substitution and income effects for each case.




